Best model for HELP J142717.039+322618.117 at z = 0.969 x2=2.02
OPTx2=1.42 IRx?=6.04 threshold (OPT IR)=15.75 [um]

102 _ : Stellar attenuated
E = e Stellar unattenuated
] —— Dust emission
1 1 —— AGN emission
10 E = Model spectrum
] ® Model fluxes
i M oObserved fluxes
_ 10° 4
> E
£ ]
— 10—1 E
x ]
2 ] "‘n’ﬁ“*«--,\
[N > ) S
10 E T
1073 5
3074 -
= 1 E
© 1 —4= (Obs-Mod)/Obs
S ]
S
n
] o - - AN el ] ol SN = o T ke - ——————————————— -
o ]
) ]
2 ]
S ]
o -1
()
(o'

10° 10! 102 103 104 10
Observed wavelength [um]



